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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

1-  If you want to excel at what you love and take your skills to the next level, you need
tomake a ......oevvvnnnnnnnn. to both yourself and your craft.
1) commitment 2) passion 3) statement 4) venture

2-  Itis usually difficult to ........cccevenneee. clearly between fact and fiction in her books.
1) gloat 2) rely 3) raise 4) distinguish

3-  Some people seem to lack a moral .................... , but those who have one are
capable of making the right choice when confronted with difficult decisions.
1) aspect 2) compass 3) dilemma 4) sensation

4-  The factual error may be insignificant; but it is surprising in a book put out by a/an
.................... academic publisher.
1) complacent 2) incipient 3) prestigious 4) notorious

5- In a society conditioned for instant .................... , most people want quick results.
1) marrow 2) gratification 3) spontaneity 4) consternation

6- One medically-qualified official was .................. that a product could be so

beneficial and yet not have its medical benefit matched by commensurate
commercial opportunity.

1) incredulous 2) quintessential 3) appeased 4) exhilarated
7-  Some aspects of zoological gardens always ..........cccuveen.e. me, because animals are

put there expressly for the entertainment of the public.

1) deliberate 2) surmise 3) patronize 4) appall

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark the correct choice on your answer sheet.

Online learning has been around for years, but it really took off during the
COVID-19 pandemic. Many schools and universities .................... (8) transition
to online learning, and this trend is likely to continue in the future. There are many



benefits to online learning, .................... (9) accessibility and flexibility. Students
can learn at their own pace, and from anywhere in the world. Online learning
.................. (10) affordable than traditional in-person learning, making education
more accessible to a wider range of students.

1) forced to 2) have forced

3) were forced to 4) forcing

1) including increased 2) they include increasing
3) and increase 4) they are increased

1) is also more 2) also to be more

3) which is also more 4) is also so

PART C: Reading Comprehension

11-

12-

13-

PASSAGE 1:

Oceanography may be one of the newest fields of science, but its roots extend back
several tens of thousands of years when people began to venture from their
coastlines in rafts. These first seafaring explorers, navigators and oceanographers
began to pay attention to the ocean in many ways. They observed waves, storms,
tides, and currents that carried their rafts in certain directions at different times. They
sought fish for food. They realized that although ocean water didn’t look different
from river water, it was salty and undrinkable. Their experiences and understanding
of the oceans were passed down over thousands of years from generation to
generation in myths and legends.

But it wasn’t until about 2,850 years ago (850 BC) that early naturalists and
philosophers started trying to make sense of the enormous bodies of water they saw
from land. Because people could see only endless ocean from the shoreline, they
believed the world was flat. That didn’t keep Columbus and others from exploring
the oceans in the late 1400s and early 1500s and finally discovering that the world
is not flat, but round — a sphere whose surface is nearly 3/4 — covered by oceans.

The word “venture” in paragraph 1 is closest in meanlng 1 N

1) watch 2) map out 3) take a journey 4) build houses
The word “it” in paragraph 1 refers to ...........cc.ccueee.e.

1) food 2) fish 3) river water 4) ocean water
According to paragraph 1, all of the following statements are true about the first
seafaring explorers, navigators and oceanographers EXCEPT that ......................

1) they observed waves, storms and tides.

2) they tried in vain to explore the deep ocean.

3) to them, ocean water and river water looked the same.
4) they went to the ocean to find food to feed themselves.
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15-

16-

17-

According to paragraph 2, early naturalists and philosophers ......................

1) tried to make sense of the oceans they saw from land less than 3 millennia ago

2) wrote detailed descriptions of the oceans in ancient times

3) knew by intuition that the earth might be round

4) tried to map the oceans about 2,850 years ago

According to the passage, which of the following statements is true?

1) More than half of the surface of the earth is covered by rivers.

2) Oceanography is an old field of science dating back to the ancient times.

3) The experiences of the first seafarers have reached us in ancient paper
manuscripts.

4) Up until late 1400s and early 1500s, people did not know that the earth is round.

PASSAGE 2:

Let’s begin by looking at a few basic facts about the oceans. We often think of
Earth in terms of its land area, but in reality 71% of the Earth’s surface is covered
by oceans, while only 29% is land. Oceans cover an area of 139 million miles? or
361 million km?, and contain a volume of about 1.37 billion km? of water. [1] All
of this water is not distributed equally over the Earth; 61% of the Northern
Hemisphere is covered by oceans, while in the Southern Hemisphere the oceans
cover 81% of the surface area.

Various sources differ in the number of recognized ocean basins. Historically
the major oceans were recognized as the Pacific, Atlantic, Indian, and Arctic
Oceans. [2] More recently, the Southern Ocean has been recognized as the fifth
named ocean, comprising all of the water from the coast of Antarctica to 600 S. In
2000 these boundaries were submitted to the International Hydrographic
Organization for official recognition, but several countries do not recognize it as a
separate ocean. [3]

The oceans account for vast amounts of water, containing 97% of the water on
Earth’s surface, with over half of the water in the Pacific alone. The average depth
of the world ocean is about 3800m (12,500 ft), which is about four times deeper
than the average land elevation is high (840m or 2800 ft). In fact, Mt. Everest, the
highest point on land, is 8848m (29,028 ft) high, while the deepest part of the
ocean, the Challenger Deep of the Marianas Trench is approximately 10,920m
(36,200 ft) deep. [4]

The word “it” in paragraph 2 refers to ...........cccceueeeee.

1) the Pacific 2) the Southern Ocean
3) coast of Antarctica 4) International Hydrographic
According to paragraph 3, the Challenger Deep of the Marianas Trench ................ .

1) is approximately 12,500 ft deep

2) is the deepest place in the ocean known to man

3) is almost 4 times deeper than Mt. Everest is high

4) is the deepest place in the ocean scuba divers have managed to dive down to



18-

19-

20-

21-

According to the passage, which of the following statements is true?

1) The Southern Hemisphere surpasses the Northern Hemisphere in terms of the
surface area covered by oceans.

2) Oceans cover an area of 361 million miles? on the earth.

3) There is a general consensus about the number of ocean basins nowadays.

4) The average depth of the world ocean is about twice the height of Mt. Everest.

In which position marked by [1], [2], [3] or [4], can the following sentence best be

inserted in the passage?

The Southern Ocean has its own unique characteristics, so for the purposes of this

book, we will include it as a separate ocean.

1) [1] 2) 2] 3) 3] 4) [4]
The passage provides sufficient information to answer which of the following
questions?

I. Why is the distribution of water over the earth not equal?

II. By what means have scientists managed to measure the depth of the ocean?
III. How much water do oceans roughly contain?

1) Only I 2) Only II 3) Only IIT 4) I and III

PASSAGE 3:

Historically, there has been limited investigation of the oceanography of the
Patagonian Shelf around the Falklands Basin. Measurements within the Falkland’s
Current have been limited, although Saunders and King (1995) have presented
results of two measurement transects across the Falklands Current. Primary topics
of research in the area have concentrated on the large scale water mass movements
and their interaction with bottom topography, coastal morphology and each other,
as well as bottom flow patterns concerning the fate of cooler water masses
produced in the Southern Ocean.

Within the area of interest, there are two distinct regions of bathymetry
affecting large-scale water mass movements. The first is the Patagonian Shelf,
extending over 300 km from the South American coastline, with the Falkland
Islands situated on an eastward extension at the southern extent of the shelf. The
second region is the Falklands Basin, comprising a steep-sided shelf break to the
east and south of the Islands, combined with bottom features associated with
energetic currents such as steep sided troughs, transient mud waves and scouring
at the seabed.

Two large-scale water masses affect the area; the first being a branch of the
Atlantic South Equatorial Current that forms the Brazil Current (BC). The BC is a
western boundary current flowing southwards from near the equator from Cape St.
Roque, Brazil, to about latitude 30408 S, and extending over the region of the
shelf plateau. This current is warm and saline, being made up of subtropical water,
with typical temperature and salinity values of around 198C and 36PSU,
respectively.

The nams Saunders and King in paragraph 1 probably refer to the names of two

1) researchers 2) currents
3) basins 4) regions



22-

23-

24-

25-

The word “transient” in paragraph 2 is closest in meaning to ............ccc........ .

1) high 2) rough

3) crystal-clear 4) short-lived

According to the passage, which of the following statements is true ...................

1) The Patagonian Shelf, extends over 300 km from the North American coasthne

2) The Falklands Basin is a region influencing large-scale water mass movements.

3) The Patagonian Shelf around the Falklands is a well-explored area in terms of
oceanography.

4) The BC is a western boundary current flowing northwards from near the equator
to about latitude 30—408 N.

The passage provides sufficient information to answer which of the following questions?

I. Why is subtropical water warm and saline?

II. What is the salinity value of the Brazil Current?

III. Which basin is situated on the westward extension at the southern extent of the

Patagonian Shelf?
1) Only I 2) Only 11
3) Only III 4) II and III

The passage will probably continue, after paragraph 3, with which of the following
topics?

1) A large-scale water mass 2) The Patagonian Shelf

3) An Asian current 4) A distinct region of bathymetry
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